
MOTOPLASTIC, S.A.  
Molí de la sal, 1  -  08403 Granollers (Barcelona) SPAIN  
Tel. 34 93 849 06 33  -  Fax 34 93 849 09 88
info@puig.tv         -    infousa@puig.tv 
www.puig.tv   -   www.puigusa.com

 INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

Ref.: 3503 J 
(color negro/black colour)

GUARDABARROS TRASERO ADAPTABLE A - REAR MUDGUARD ADAPTABLE TO - 
    BMW 

R1200R ‘18/R1250R ’19- / R1200RS ‘18/ R1250RS ’19- Ref.: 3503 C 
(color carbono/carbon look)

Guardabarros

Soporte aluminio

DESCRIPCIÓN DESCRIPTION

1

2

3

4

5

6

7

8

9

10

Silentblock

Tornillo Allen M5x11 ISO 7380 Autoblocante 

Casquillo con valona M5

Arandela Grower DIN 127 M5

Tornillo Allen M8x35 DIN 912  12.9 

Tornillo Allen M10x75 DIN 912  12.9 

Casquillo Ø int. 10,5  Ø ext.-(1)15 x Ø ext.-(2)21x19,5 

Casquillo de fricción IGUS Ø int. 15 x Ø ext. 17x15

ID. QTY.

Mudguard

Support aluminum

1

1

3

3

3

3 

1

1

1

1

Well nut

M5x11 ISO 7380 Allen lock screw 

M5 bush with fl ange

DIN 127 M5 Grower washer 

M8x35 DIN 912 12.9 Allen screw 

M10x75 DIN 912 12.9 Allen screw 

Arrowhead Ø inner 10,5 Øouter-(1)15 x Øouter-(2)21x19,5

Arrowhead IGUS Ø inner 15 x Ø outer 17x15

1

Tornillos originales /   
Original screws

2

11 3Tapón tornillo M5 ISO 7380 M5 ISO 7380 Screw cap

REF.

3503C/JM3

SOPORFUN-6352-7

SILENBGONE--064

TORNI-AI---520

CASQUI------517

ARAND-G5----506

TORNI-D912--837

TORNI-D912--669

CASQUI-M----604

COJIN-P-WSM-517
TAPON--------85



MOTOPLASTIC, S.A.  
Molí de la sal, 1  -  08403 Granollers (Barcelona) SPAIN  
Tel. 34 93 849 06 33  -  Fax 34 93 849 09 88
info@puig.tv         -    infousa@puig.tv 
www.puig.tv   -   www.puigusa.com

GUARDABARROS TRASERO ADAPTABLE A - REAR MUDGUARD ADAPTABLE TO - HINTERRADABDECKUNG FÜR

BMW R1200R ‘18/ R1250R ’19-/ R1200RS ‘18/ R1250RS ’19-

43

4

6

- Par de apriete tornillos 7 (24Nm) y 8 (56 Nm).
- Tightening torque for screws nº 7 (24Nm) and 8 (56 Nm).
- Anzugsdrehmoment Schrauben Nº 7 (24Nm) und 8 (56 Nm).

9

10

8

7

11

SE RECOMIENDA REALIZAR EL REAPRIETE DE LA TORNILLERIA CADA 1000 Km
IT IS RECOMMENDED TO CHECK  TIGHTENING OF THE BOLTS EVERY 1000 Km.




